AYSEIS AINTONIZMATOS
MapH LA TkeN (A0 (EBPA)
LANON AP 10Y 202 ]

[oern A
Ad) QZ’M{/} SKoNdY '56/‘ T4
A2> Aﬂo&’l—fﬁ/d (X‘Oqlﬁk—vf GiA 60-64.

AZ‘) ﬁ) seiw
) sesw
?) sesw
£) AADIL
s) AAbod

Otma B ! |
g - (- 6we)

s (240 1) -6w (390 ) = o g

Ba) «) ‘
CC‘)( tqﬂ C’A’(ﬂqu) - G- 6d-
.B-> .——@@— = iﬂf—g—i o ~w =~ (‘i+w«9)c4'w9)
. {1~ wpt 8 T -ewd
Lge b texes
=) 6w St wple & W 2G40 KVEq

| =
) 7"_‘2)(- = 2kn _(,%r_x\

9 o = N
-y 2x = 2kn 8 +x

) 3
te 7z
Ix=2vq - & x= __'2_&9 4 20
NG 3 9



53‘) vamz(zx) £ Sap(zx) -3%=0

@g“(w (M,f(ZK =W ' sz-{ Sw -3 =0
A
.-5 t?‘ ~ .i
=25 +24=49S W4z ——————-:%
A , , : e e

O Aoz o st (<g)rpez o L ()rBen

= l"(L+25 :a

f(ﬂ:?"\(z = - 6w (ﬁz~%>43 =33 &)

&) *OL'\I;_Z% + B =2 -V3 & L@B +23:6-—'ZB

) 'd = ) ) ’ _ ~ ) '
g teF 4 = d(1-V3)= 2-2V3 & o (1-v3) = 2(1-V3)
~aqV3+2B=6-¥3 Cd::?,
A‘pd E:B
2) foy = —2 0w (5~ 5)+3, Af-Re  T=4o
x4 4n) = -ZC/W(NQ(H- %—%) +3 = —2 6w (7_79—_ _§> + 3 :“-e[x)
@P-o\w) 4(%-403 :'TQ(K) A/po( :P ncﬁp‘oa“w " .7240

__‘2~



%.> {6 XV 24 -1 = 6w ()( ‘—g' £ 4 &=

2
Ao o P
/ /
Wtim M L
teoes @ 20w (5-0)43=5 e —2w(§-5)-2

-y = 2kAmn 20
¢ X - 2kn - &4
3
' x=4kn ¢ 80
= 2 keg
X = 4dko - 40
S

273 ﬁ
-—X—”-D- = 2kndt 8 :Zii,()-{-z.'_n
Ew (%_’%)':Wge-ﬂgxz n7 f(:’% :
5'3 :'Z"’ﬂ"} % = 2 len
X = 4bn 4 40
7 ? > bez
X = 4kn
X
S> %(x)-f(KJZ(’)——ZOw("-‘2—+évg)+3 -.—‘ZCW_Z-Q-S
< qG&) £s 1=4n
kA oS 0T — (4
g(()'):i_ -
G .
4(ny =" |
3(2(\);5 i _: /—‘ﬁ -_J \Q
3(?0'):3 © n 20 39 4n
364':\)‘:1_
|




[@EHA A |
Q) 3R 4 TR = 2ope(0x) (1)
X =0 1Hey + 4(e) = 2-0 & l-.:f(o"):o_

(o) — { ’7‘1’()‘7“‘;

- .
QUF"AQ"L(’\M m ae
A£ =2 Avrie 0(9\66«11 o X Te =X

3 ’-Q('—x) + f({(xy: - 29 (0 %) (@)
ﬂgoe}im ot & MAM

3{eo + feo 4 2ot Tey =0 = _
“H’)(x) 4 AL 0 = 'P(‘—x)r{(x) A—(JJ ’P NSpiom

D ko Ao Fo

LLSa P 3-‘-?(%") —"-fr(x): Qw(‘nx) =) Qf(x):'QW(nx)

= Tf(sc) = mp (02D,

|':.?_(1 = L

N

ORE U TSI MIPERELY

f N
LExo 4 lx'-'lz’\ 20 & (‘C‘E“ 1 >4 = awp(ax) 24

d nep oo

A (1) 24 B Woovdte  onets apeha  Wp(nx) =4

\ , 1
A‘evl \*’%(H:l &) (X‘*T\:U S Ry

g(\a im%w 6w 67(6@6&1 ""‘*H(%'”S = 4 4 (jz _ ‘z\c:)

M{-—(’g‘_:i Ko A PJVEM QQSL(

&V"(’f IX:_LI



4);

'“f?(x) 4 *fz(y):i

(%) & wpE(av)= o

.

oy = 4 (%) mp (%) = anp(ay)
2
AVT((L/O(%‘GLW 2%(«(2(‘”*‘> =4 &) W(ﬁx):i
s ama (nx) = f'?_%
- 25 |
we () = -G

)
. N - X = Okn+ D X :Zb*;
0 fMA((\X):’Wr‘ZQ-‘) g =) ke gz
nx:.ZkAfZT':\ x =2k ¢ 3
4
0L X248 & oézk-kz\(i%c—;) —Z(té.‘zk szqw‘g,ékéé-—a‘k:cp?
Ao A o oyl m oy 3
“ ox=% vT % 374 3 \ [lk=2)
o . o3 R
0 £x€l o O £ 2k4Z £1 &) "22(5“‘&‘1:’ x €%
-3 : 21
hew =2 = Y=g 7 ¥ |
) ‘ . NX = 2kn -1 ?\:2‘!‘2
%("(0?0':-“@ “ W('ﬂ\()‘:%ﬁ("é") (:)% U C:')? h’l
Ax = 2ent 30 xe= 2k t 2
~
0Ll =) 02k 4 2l = %}f?Kfz{c—-) Lkl )Ae 00
& £ keZ
. , . e . . =\ S £ 1 el
Ly L) &) O L2kt £ -3 ¢ 2vso o -2 2k el
. A, i is
Onote o /AUC% AN 0y X—’z“ 'éj'—‘-g - (4(4
x= A - 3 4 ‘Z)
4 B]&[‘L — (‘MZ
X:E ':—‘— . 3 _l
4 5Y Ty T (2'*4>
Xz 2 , . 3
oY — 3 3
4 7773 '_’(fu'zf)

!
)\
§



